5. Use the table of values on the right to estimate ;
_ & x |0/4|67]10
the below:
- flx)|5]3]213]5
a. Use 3 left-handed rectangles with intervals indicated by b.  Use 2 middle rectangles with intervals indicated by the
the table to estimate the area between the curve and x-axis table to estimate the area between the curve and x-axis
on [0, 7] on {0, 10]

c.  Use 3 right-handed rectangles with intervals indicated by d. Use 3 trapezoids with interval indicated by the table to
the table to estimate area between the curve and x-axis on estimate area between the curve and x-axis on [0, 7]
(4, 10]

6. Given the region bounded by g (x) = 6 — x*, the x-axis, x = -1, and x = 2. Use the limit
deﬁmtlon to ﬁnd the exact area of the reglon
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